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Question No : 53

A company is transitioning to a new DNS domain name and wants to accept e-mail for both
domains for all of its users on a Postfix server.

Which configuration option should be updated to accomplish this?

. mydomain

. mylocations

. mydestination
. myhosts

. mydomains

mooOw»

Answer: C

Question No : 54 CORRECT TEXT

According to this LDIF excerpt, which organizational unit is Robert Smith part of? (Specify
only the organizational unit.)

dn: cn=Robert Smith, ou=people, dc=example, dc=com
objectclass: inetOrgPerson
cn: Robert Smith

cn: Robert J Smith

cn: bob smith

sn: smith

uid: rijsmith

userpassword: rJsmitH
carlicense: HISCAR 123
homephone: 555-111-222%2
mail: r.smith@example.com
mail: rsmith@example.com
mail: bob.smith@example.com
description: swell guy

Answer: people

Question No : 55
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Which of the following lines in the sshd configuration file should, if present, be changed in
order to increase the security of the server? (Choose two.)

A. Protocol 2, 1

B. PermitEmptyPasswords no
C. Port 22

D. PermitRootLogin yes

E. IgnoreRhosts yes

Answer: A,D

Question No : 56

In response to a certificate signing request, a certification authority sent a web server
certificate along with the certificate of an intermediate certification authority that signed the
web server certificate. What should be done with the intermediate certificate in order to use
the web server certificate with Apache HTTPD?

A. The intermediate certificate should be merged with the web server’s certificate into one
file that is specified in SSLCertificateFile

B. The intermediate certificate should be used to verify the certificate before its deployment
on the web server and can be deleted

C. The intermediate certificate should be stored in its own file which is referenced in
SSLCaCertificateFile

D. The intermediate certificate should be improved into the certificate store of the web
browser used to test the correct operation of the web server

E. The intermediate certificate should be archived and resent to the certification authority in
order to request a renewal of the certificate

Answer: A

Question No : 57

Which of the following authentication mechanisms are supported by Dovecot? (Choose
three.)

A. |dap
B. digest-md5
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C. cram-md5
D. plain
E. krb5

Answer: B,C,D

Question No : 58

Which http_access directive for Squid allows users in the ACL named sales_net to only
access the Internet at times specified in the time_acl named sales_time?

A. http_access deny sales_time sales_net

B. http_access allow sales_net sales_time

C. http_access allow sales_net and sales-time
D. allow http_access sales_net sales_time

E. http_access sales_net sales_time

Answer: B

Question No : 59 CORRECT TEXT

What is the path to the global Postfix configuration file? (Specify the full name of the file,
including path.)

Answer: /etc/postfix/main.cf

Question No : 60

Which BIND option should be used to limit the IP addresses from which slave name
servers may connect?

A. allow-zone-transfer
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B. allow-transfer
C. allow-secondary
D. allow-slaves

E. allow-queries

Answer: B
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